ql_network.vector_encoders.0.seq_layers.0.weight

ql_network.vector_encoders.0.seq_layers.0.bias

(20)

ql_network.vector_encoders.0.seq_layers.1 .bias
(20)

ql_network.q_heads.value_heads.extrinsic.bias

3)

(20, 20)
v ql_network.vector_encoders.0.seq_layers.1.weight
TBackward - - (20.20) =
v /
AddmmBackward TBackward
A 4
AddmmBackward
A 4
ReluBackwardQ
A 4 S
StackBackward ql_network.q_heads.value_heads.extrinsic.weight
(3,20)
SumBackward1 TBackward
AddmmBackward

'

SqueezeBackward1

Y
SliceBackward

A J

MulBackwardO

A J

SumBackward1

Y
StackBackward

A /

MeanBackward1




